
TS LIMITES feuille 3

 Calculer les limites suivantes:

 lim
x−∞

 x2 − 1  x lim
x∞

 x2 − 1  x 
x

 

 

 lim
x∞

 x2 − 1  3
 x2 − 1

   lim
x∞

2x3 − 7x 1
x 2  x − 1

  lim
x1

3x2 − 5x 1
x − 1

           lim
x 2

x3 − x − 6
x2 − 4

   

  lim
x0

1
x x  1

− 1
x                lim

x1

2
x2 − 1

− 1
x − 1    

  lim
x∞

x3

x2  1
− x                 lim

x 2

1
x x − 22

− 1
x2 − 3x  2

  lim
x 4

 x  5 − 3
x − 4

       lim
x0

 x2

x
 

  lim
x 4

 x − 2
x2 − 5x  4

      lim
x−∞

 x2 − x  1  2x  

   lim
x9

3 −  x
x2 − 81

        lim
x∞

 x  1 −  x

  

   lim
x∞

 x2  x −2 − x2 − 1         lim
x∞

 x2  1
x

−  x     

   lim
x−1

3x  4 − 1
x2 − 1

          lim
x−∞

 x4  2x −1 − x2  1

  christophe navarri http://www.maths-paris.com

http://www.maths-paris.com/

